i~

PATRICIT

Model PHDR

The PHDR hydraulic geroler motor is a type of positive displacement motor that uses the
principle of gerotor gear set to convert hydraulic fluid pressure into mechanical rotation. It
is commonly used in mobile and industrial equipment due to its high power density, effi-
ciency, and reliability.

" The geroler motor consists of an outer and inner gear that mesh together to form a set of
pockets, which trap and release fluid as the gears rotate. This movement creates a contin-
uous flow of fluid, which generates torque and drives the output shaft. The size of the
geroler set determines the displacement of the motor, which in turn affects its speed and
torque output.

The PHDR series hydraulic geroler motor is designed to deliver high performance and durability in demanding operating
conditions. It features a compact and robust construction, with a high-strength aluminum housing and reinforced end
caps for added durability. The motor is equipped with high-precision geroler gears that provide smooth and efficient oper-
ation, and a self-lubricating bearing system that reduces maintenance requirements.

The PHDR hydraulic geroler motor is compatible with a variety of hydraulic fluids, including mineral-based and synthetic
oils, and is available in a range of displacements to suit a variety of applications. It also features a flexible mounting sys-
tem that allows for easy integration into a wide range of equipment.

Overall, the PHDR hydraulic geroler motor is a versatile and reliable solution for high-performance hydraulic systems,
providing efficient and durable performance in a compact and easy-to-install package.

MAIN SPECIFICATIONS

PHDRW | PHDRW | PHDRW

PHDRS | PHDRS

Disol . mircc  51.7 80.5 100.5 126.3 160.8 200.9 252.6 321.5 401.9
Isplacemen ine/rev] [3.154]  [4.912]  [6.132]  [7.707] [9.812]  [12.259] [15.414] [19.619] [24.626]
¢ bar 140 140 140 140 140 140 115 90 70
CONL [psi] [2030]  [2030] [2030] [2030] [2030] [2030] [1675] [1305] [1015]
o B . bar 175 175 175 175 175 175 140 105 90
ax.Pressure.Drop  int. o5 [2537]  [2537] [2537] [2537] [2537] [2537] [2030] [1522] [1305]
peak, bar 200 200 200 200 200 200 160 130 110
“Ipsl [2900]  [2900] [2900] [2900] [2900] [2900]  [2320] [1885] [1595]
om 93 152 194 237 310 369 380 380 380
cont. by [823] [1345] [1717] [2097] [2743] [3265]  [3363] [3363] [3363]
, nm 118 189 236 296 378 450 470 470 470
Max.Torque int.  [Lb.in] [1044] [1672] [2088] [2619] [3345] [3982] [4159] [4159] [4159]
 nm 135 216 270 338 433 509 540 540 540
PEAK- [1b.in] [1194] 11911] [2389] [2991] [3832] [4505]  [4779] [4779] [4779]
Max.Speed cont. rfmin 770 745 595 475 370 295 235 185 150
Max.Fl Lmin 40 60 60 60 60 60 60 60 60
ax.rlow cont. emin[10.56]  [15.85]  [15.85]  [15.85] [15.85] [15.85] [15.85]  [15.85] [15.85]
kw 7 10 10 10 10 8 6 5 4
Max.Output.Power  cont. ) g 3g1 [13.41]  [13.41]  [13.41] [13.41] [10.72]  [8.04] [6.70] [5.36]
Weiaht kg 65 6.9 7.0 7.3 7.5 8.0 8.5 9.0 11
€ig llbs] [14.33] [15.21]  [1543]  [16.09] [16.53] [17.63] [18.73]  [19.84] [24.25]
* Rated speed and rated torque: Output value of speed and torque under rated flow and rated pressure.
* Continuous pressure: Max. value of operating motor continuously.
* Intermittent pressure: Max. value of operating motor in 6 seconds per minute.
* Peak pressure: Max. value of operating motor in 0.6 second per minute.




PATRIEIT

HYORAULILS

MAIN SPECIFICATIONS =

PHDRY | PHDRY | PHDRY PHDRY | PHDRY PHDRY PHDRY PHDRY PHDRY
50 80 100 125 160 200 250 315 400

. mi/r cc 51.7 80.5 100.5 126.3 160.8 200.9 252.6 3215 401.9
Displacement [in*/rev.] [3.15] [4.91] [6.13] [7.71] [9.81] [12.26] [15.41] [19.62] [24.52]
nt bar 175 175 175 175 175 175 140 120 100

CONt- [psi)  [2538] [2538] [2538] [2538] [2538] [2538] [2030] [1740] [1450]

Max P D . bar 200 200 200 200 200 190 160 140 120
ax.Pressure.Drop int. G 2900] [2900] [2900] [2900] [2900] [2755] [2320] [2030] [1740]
cak bar 220 220 220 220 220 200 180 150 140

PeaK. osi1  [3190] [3190] [3190] [3190] [3190] [2900] [2610] [2175] [2030]

cont. nm 110 189 236 296 378 450 470 485 500

" [Lbin] [973] [1672] [2088] [2619] [3345] [3982] [4159] [4292] [4425]

: nm 135 216 270 338 433 486 540 573 614

Max.Torque int.  [Lb.in] [1194] [1911] [2389] [2991] [3832] [4301] [4779] [5071] [5434]
cak N 144 225 281 353 450 511 579 614 710

PeaK- (Lbin) [1274] [1991] [2487] [3124] [3982] [4522] [5124] [5434] [6284]

Max.Speed cont. r/min 770 745 595 475 370 295 235 185 150
Umin 40 60 60 60 60 60 60 60 60
Max.Flow cont. Gminj[10.56] [15.85] [15.85] [15.85] [15.85] [15.85] [15.85] [15.85] [15.85]
kw 7.5 12 12 12 12 11 9.5 7.5 6.5

Max.Output.Power  cont. 5 110051 [16.09] [16.09] [16.09] [16.09] [14.75] [12.74] [10.06] 18.72]
Weiaht kg 6.9 7.3 74 7.7 7.9 8.4 8.9 9.4 114
eig flbs] [15.2] [16.1] [16.3] [16.9] [17.4] [18.5] [16.6] [20.7] [25.1]

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.




PERFORMANCE DATA

Max Max
PHDR 50(51.7cc) Max lax
[725] |[1015]|[1305] [[1450] [ 1740]|[2030]([2320] |[2538]| [PSI]
50 | 70 | 90 | 100 | 120 | 140 | 160 | 175 |BAR
[ePM] |[1.32]| |[300] | [389]] [513] | [575]|[663] | [778]
34 44 | 58 | 65 | 75 | 88
L/mn| 5 94 85 | 77 | 77 | 72 | 50
[2.64]| | [309]|[398] | [539] | [601] | [699] | [831] | [947] |[1053]| TORQUE [LB-IN]
35 | 45 | 61 68 | 79 | 94 [ 107 | 119 | TORQUE NeM
10 188 | 179 | 167 | 163 | 154 | 137 | 119 | 98 | SPEED RPM
[3.96]| | [300] |[424] |[548] | [637] |[770] | [885] |[955] [1079]
34 | 48 | 62 | 72 | 87 | 100 | 108 | 122
15 285 | 279 | 271 | 263 | 252 | 232 | 213 | 187
% [5.28]| | [300] | [407] ]| [531] | [601] | [725] | [840] | [964] |[1106]
o 34 | 46 | 60 | 68 | 82 | 95 | 109 | 125
20 379 | 377 | 367 | 363 | 348 | 332 | 304 | 272
[7.92]| | [283]|[380] | [522] | [584] | [699] | [831] | [947] |[1070]
32 | 43 | 59 | 66 | 79 | 94 [ 107 | 121
30 578 | 571 | 563 | 556 | 544 | 533 | 502 | 467
[10.56] | [265]| [354] | [504] | [575] | [690] | [805] | [929] |[1065]
Max 30 | 40 | 57 | 65 | 78 | 91 | 105 | 120
cont| 40 762 | 760 | 755 | 752 | 740 | 726 | 702 | 672
[11.88] | [256] | [345] | [495] | [566] | [681] | [787] | [920] [[1062]
29 | 39 | 56 | 64 | 77 | 89 | 104 | 120 Max
45 858 | 855 | 851 | 847 | 837 | 817 | 798 | 772 cont.
[13.20] | [221]| [318] | [460] | [522] | [637] | [743] | [867] |[1000]
Max 25 | 36 | 52 | 59 | 72 | 84 | 98 | 113 Max
int. | 50 952 | 942 | 927 | 908 | 882 | 854 | 834 | 803 int.
Max Max
PHDR 100(100.5cc) e -y
[725] |[1015]|[1305] | [1450]|[1740]([2030]|[2320]|[2538] | [PSI]
50 | 70 | 90 | 100 | 120 | 140 | 160 | 175 [BAR
[GPM] | 5 [566] | [796] |[1044]([1186][[1363]
64 | 90 | 118 | 134 | 154
L/min |[1.32] 49 | 48 | 46 | 42 | 38
10 [575] | [823] |[1079]1186] |[1371]/[1619]|[1858] TORQUE [LB-IN]
65 | 93 [ 122 [ 134 | 155 | 183 | 210 TORQUE NeM
[2.64] 96 | 94 | 93 | 91 80 | 60 | 48 SPEED RPM
20 [548] | [823]|[1070]|[1194] | [1354] [1628][[1840]|[2088]
62 | 93 | 121 | 135 | 153 | 184 | 208 | 236
[5.28] 192 | 188 | 184 | 178 | 171 | 168 | 158 | 146
30 [539] | [796] |[1044] [[1150] |[1327]|[1593]|[1770]|[2053]
61 | 90 | 118 | 130 | 150 | 180 | 200 | 232
z |[7:92] 206 | 294 | 290 | 290 | 288 | 282 | 270 | 258
u—°_ 40 [486] | [761] |[1017][[1115] |[1292][[1601]|[1823]|[2017]
55 | 86 | 115 | 126 | 146 | 181 | 206 | 228
[10.56] | 387 | 380 | 369 | 361 | 356 | 348 | 338 | 320
50 [407] | [681] | [955] |[1070] |[1292]|[1601]|[1770]|[1956]
46 | 77 | 108 | 121 | 146 | 181 | 200 | 221
[13.20] | 484 | 479 | 472 | 463 | 452 | 445 | 428 | 410
60 [300] | [548] | [867] | [973]|[1203]|[1504]|[1646]([1761]
Max 34 | 62 | 98 | 110 | 136 | 170 | 186 | 199
cont.[1585] | 583 | 567 | 569 | 555 | 540 | 536 | 528 | 516
70 [265] | [557] | [858] | [973]|[1221]|[1504]|[1681]([1858]
30 | 63 | 97 | 110 | 138 | 170 | 190 | 210 Max
[18.49] | 680 | 672 | 662 | 650 | 640 | 635 | 620 | 606 SBit.
75 [177]| [486] | [796] | [938]|[1150]|[1460]|[1663]([1770]
Max 20 | 54 | 90 | 106 | 130 | 165 | 188 | 200 Max
int. [19:81] | 728 [ 720 | 710 | 695 | 681 667 | 650 | 634 int.

[GPM]

L/min

Flow

Max
cont.

Max
int.

[GPM]

L/min

Flow

Max
cont.

Max
int.

Max Max
PHDR 80(80.5cc) cont. int.
[725] [[1015][[1305][[1450][[1740][[2030]][2320][[2538]| [PSI]
50 | 70 | 90 | 100 | 120 | 140 | 160 | 175 |BAR
5 [424] | [513] |[743] | [938] [[1141]
48 | 58 | 84 | 106 | 129
[1.32] 61 | 58 | 52 | 46 | 40
10 [442] | [654] | [849] | [938] |[1115]|[1283]|[1504] TORQUE [LB-IN]
50 | 74 | 96 | 106 | 126 | 145 | 170 TORQUE NeM
[2.64] 122 | 116 | 112 | 108 | 106 | 99 | 60 SPEED RPM
20 [447] | [672] | [885] | [964] |[1159]|[1345]|[1540]|[1708]
54 | 76 | 100 | 109 | 131 | 152 | 174 | 193
[5.28] 243 | 239 | 231 | 219 | 206 | 192 | 176 | 152
30 [442] | [637] | [849] | [920] |[1132]|[1309]|[1522]|[1690]
50 | 72 | 96 | 104 | 128 | 148 | 172 | 191
[7.92]| | 362 | 358 | 356 | 350 | 349 | 335 | 325 | 300
40 [398] | [619] [[840] |[920] [[1106]|[1292] |[1513]|[1663]
45 | 70 | 95 | 104 | 125 | 146 | 171 | 188
[10.56]] | 484 | 480 | 478 | 476 | 470 | 468 | 440 | 438
50 [362] | [601] |[805] | [893] |[1079]|[1283] [[1486]|[1646]
41 [ 68 | 91 | 101 | 122 | 145 | 168 | 186
[13.20] | 610 | 608 | 606 | 603 | 600 | 598 | 550 | 520
60 [309] | [575] | [778] | [849] |[1062][[1256] |[1451]|[1619]
35 | 65 | 88 | 96 | 120 | 142 | 164 | 182
[15.85] | 726 | 723 | 720 | 718 | 710 | 700 | 698 | 680
70 [265] [ [513] | [716] | [823] |[1008]|[1203]|[1398]|[1548]
30 | 58 | 81 93 | 114 | 136 | 158 | 175 Max
[18.49] | 845 | 834 | 820 | 802 | 789 | 767 | 754 | 730 cont.
75 [168] | [424] | [672] | [778] | [955] |[1168]|[1336]|[1486]
19 | 48 | 76 | 88 | 108 | 132 | 151 | 168 Max
[19.81]] | 910 | 895 | 881 | 867 | 852 | 830 | 806 | 787 int.
Max Max
PHDR 125(126.3cc) i ey
[725] |[1015][[1305] |[1450] |[1740]|[2030] {[2320]|[2538] | [PSI]
50 | 70 | 90 | 100 | 120 | 140 | 160 | 175 |BAR
5 [654] | [938] |[1239]|[1442]
74 | 106 | 140 | 163
[1.32] 37 | 32 | 27 | 21
10 [716] |[1008]|[1345]|[1522] [[1770]|[1947][2212] TORQUE [LB-IN]
81 | 114 | 152 | 172 | 200 | 220 | 250 TORQUE NeM
[2.64] 78 | 77 | 74 | 59 | 45 | 29 | 20 SPEED RPM
20 [708] [[1008]([1327]([1504]|[1770]|[1956]|[2248]|[2584]
80 | 114 | 150 | 170 | 200 | 221 | 254 | 292
[5.28] 157 | 156 | 154 | 151 | 146 | 142 | 120 | 114
30 [690] | [991] |[1318]|[1495]|[1752]|[1947]|[2230]|[2566]
78 | 112 | 149 | 169 | 198 | 220 | 252 | 290
[7.92] 232 | 230 | 228 | 222 | 220 | 218 | 199 | 170
40 [681] | [982] |[1301]([1486]|[1734][[1929]|[2212]|[2549]
77 | 111 | 147 | 168 | 196 | 218 | 250 | 288
[10.56][ | 312 | 311 | 307 | 300 | 298 | 284 | 270 | 252
50 [548] | [929] |[1265]|[1460]|[1725]|[1973]|[2248]|[2540]
62 | 105 | 143 | 165 | 195 | 223 | 254 | 287
[13.20]| | 391 | 388 | 384 | 380 | 372 | 362 | 346 | 330
60 [460] | [867] |[1203]|[1416]([1690]([1947]|[2212]|[2495]
52 | 98 | 136 | 160 | 191 | 220 | 250 | 282
[15.85]| | 470 | 468 | 464 | 459 | 448 | 434 | 412 | 405
70 [362] | [796] |[1150]([1380]|[1655]|[1902]|[2141]|[2460]
41 | 90 | 130 | 156 | 187 | 215 | 242 | 278 Max
[18.49] | 548 | 544 | 540 | 541 | 538 | 535 | 530 | 496 cont.
75 [283] | [699] |[1115]|[1309]|[1593]|[1840]([2071][[2318]
32 | 79 [ 126 | 148 | 180 | 208 | 234 | 262 Max
[19.81]| | 586 | 583 | 578 | 570 | 560 | 546 | 532 | 520 int.




PATRICIT

HVYDRAULILS

PERFORMANCE DATA =

PHDR 160(160.8cc) Max Max PHDR 200(200.9cc) Max Max
cont. int. cont. int.
[725] |[1015]|[1305]|[1450] |[1740]|[2030]|[2320]|[2538]| [PSI] [725] |[1015]([1305]|[1450]|[1740]|[2030]|[2320]|[2538]| [PSI]
50 | 70 | 90 | 100 | 120 | 140 | 160 | 175 | BAR 50 | 70 | 90 | 100 |120 140 | 160 | 175 |BAR
[GPMI| 5 [885] |[1256]([1663]([1832] [GPM] | 5 [1141]([1557][2035]|[2265]
100 | 142 | 188 | 207 129 | 176 | 230 | 256
L/min | [1.32] 29 | 26 | 21 19 L/min |[1.32] 24 | 22 | 18 | 13
10 [920] ([1292]([1690]([1867]|[2168]|[2495]|[2920] TORQUE [LB-IN] 10 [1177]{[1610]|[2088]|[2310]|[2743]|[3115]|[3540] TORQUE [LB-IN]
104 | 146 | 191 | 211 | 245 | 282 | 330 TORQUE NeM 133 | 182 | 236 | 261 | 310 | 352 | 400 TORQUE NeM
[2.64] 62 | 60 | 58 | 49 | 45 | 32 | 25 SPEED RPM [2.64]| | 49 | 47 | 45 | 43 | 38 | 33 | 24 SPEED RPM
20 [902] |[1309]|[17171|[1929]|[2221]|[2566]|[2991]|[3257] 20 [1159]{[1601]|[2053]|[2265] |[2726]|[3133]|[3540]|[3814]
102 | 148 | 194 | 218 | 251 | 290 | 338 | 368 131 | 181 | 232 | 256 | 308 | 354 | 400 | 431
[5.28]| | 124 | 120 | 118 | 114 | 109 | 104 | 99 | 94 [5.28] 99 | 97 | 94 | 92 | 88 | 83 | 74 | 64
30 [849] |[1247]|[1646]|[1902]|[2194][[2549]|[2965]|[3221] 30 [1115]|[1557]|[2646] | [2230]|[2726]|[3124]([3540] | [3805]
96 | 141°| 186 | 215 | 248 | 288 | 335 | 364 126 | 176 | 299 | 252 | 308 | 353 | 400 | 430
2 (7921 | 183 | 181 | 179 | 176 | 166 | 158 | 144 | 132 8 |[7.021] | 149 | 147 | 144 | 141 | 135 | 126 | 113 | 105
| 40 [770] |[1203][[1593]| [1823]|[2194]| [2531]|[2920]|[3168] | 40 [991] |[1486]|[1982]|[2194]|[2690]([3097]([3478]|[3743]
87 | 136 | 180 | 206 | 248 | 286 | 330 | 358 112 | 168 | 224 | 248 | 304 | 350 | 393 | 423
[10.56]| | 246 | 242 | 240 | 235 | 231 | 219 | 200 | 181 [10.56]| | 200 | 197 | 194 | 191 | 185 | 174 | 160 | 151
50 [619] |[1115]|[1522]([1752]|[2106]([2460]([2832]([3097] 50 [831] |[1345]|[1947]|[2150]|[2602]| [3035]|[3398]|[3664]
70 | 126 | 172 | 198 | 238 | 278 | 320 | 350 94 | 154 | 220 | 243 | 294 | 343 | 384 | 414
[13.20]( | 309 | 307 | 300 | 295 | 287 | 278 | 262 | 247 [13.20]| | 252 | 249 | 246 | 243 | 238 | 228 | 212 | 194
60 [513] | [982] |[1486]|[1690]([2053])[2398]|[2761]|[3026] 60 [690] |[1274]|[1885]|[2088]([2540]|[3000]|[3380]|[3628]
Max 58 | 111 | 168 | 191 | 232 | 271 | 312 | 342 Max 78 | 144 | 213 | 236 | 287 | 339 | 382 | 410
cont. |[15-85] 371 | 367 | 359 | 354 | 346 | 338 | 323 | 306 cont |[15:85] | 304 | 301 | 298 | 294 | 286 | 276 | 262 | 243
70 [415] | [920] |[1416]([1681]|[2017]([2363]([2664]([2991] 70 [593] |[1194]|[1823]|[2017]|[2451]|[2973]|[3319]|[3611]
47 | 104 | 160 | 190 | 228 | 267 | 301 | 338 Max 67 | 135 | 206 | 228 | 277 | 336 | 375 | 408 Max
[1849]| | 435 | 430 | 421 | 415 | 403 | 393 | 381 | 365 cont. [1849]| | 355 | 353 | 349 [ 340 | 329 | 316 | 300 | 288 cont.
75 [300] | [805] |[1327])[1593]|[1956]([2310]{[2575]([2903] 75 [513] |[1106]|[1743]|[1947]|[2389]|[2841]|[3186]|[3522]
Max 34 | 91 | 150 | 180 | 221 | 261 | 291 | 328 Max Max 58 | 125 | 197 | 220 | 270 | 321 | 360 | 398 Max
int. |[19:81]] | 470 | 463 | 450 | 441 | 431 | 420 | 405 | 389 int. int. [[19.81] | 382 | 379 | 373 | 362 | 350 | 337 | 322 | 312 int.
M M Max Max
PHDR 250 (252.6cc) X b PHDR 315(321.5cc) . i
[725] |[1015]|[1305]|[1450]|[1595]|[1740]([2030]| [PSI] [435] | [725] [[1015]|[1305]|[1450] [1595]( [PSI]
50 | 70 | 90 | 100°| 110°| 120 | 140 |BAR 30 | S0 | 70 | 90 | 100 | 110 |BAR
[GPM] | 5 [1522]|[2124]([2655]|[2991]|[3115] ePv [ 5 [973] [[1761]
172 | 240 | 300 | 338 | 352 ) 110 | 199
L/min |1321] | 20 | 19 | 18 | 16 | 15 L/min |[1:32]| | 14 | 12
10 [1531]|[2141]|[2726]|[3009]|[3106]([3584]|[4089]| TORQUE [LB-IN] 10 [955] |[1681]|[2407]([3186]|[3540]([3991]f TORQUE [LB-IN]
173 | 242 | 308 | 340 | 351 | 405 | 462 | TORQUE NeM 108 | 190 | 272 | 360 | 400 | 451 | TORQUE NeM
[2.64] 42 | 38 | 36 | 33 | 33 | 28 | 22 | SPEEDRPM [2.64] 31 | 30 | 29 | 28 | 26 | 25 | SPEED RPM
20 [1504]([2106]|[2664]|[3000]|[3097]|[3558]|[4071] 20 [973] |[1734]|[2469]([3150]([3522]([3965]
170 | 238 | 301 | 339 | 350 | 402 | 460 110 | 196 | 279 | 356 | 398 | 448
[5.28] 79 | 77 | 75 | 72 | 71| 69 | 61 [5.28] 61 | 60 | 59 | 57 | 55 | B3
30 [1416]([2044]|[26371([2920]|[3071]|[3522]|[4027] 30 [938] [[1646]|[2389]([3142]([3451]([3912]
160 | 231 | 298 | 330 | 347 | 398 | 455 106 | 186 | 270 | 355 | 390 | 442
% 7921 | 117 | 114 | 111 | 109 | 108 | 103 | 95 g [7.92] 91 | 90 | 89 | 86 | 84 | 82
| 40 | |[12471|[1956]|[2637]|12894]|[3026][[3487]|[3938] | 40 [885] ([1584]|[2318]|[3097]|[3380][3858]
141 | 221 | 298 | 327 | 342 | 394 | 445 100 | 179 | 262 | 350 | 382 | 436
[osel| | 157 | 155 | 153 | 150 | 148 | 146 | 135 [10.56] | 123 | 122 | 120 | 117 | 112 | 110
50 [1079]([1823]([2540]|[2841]|[2938]([3380]|[3876] 50 [814] ([1495]|[2230]([3026]|[3301]([3823]
122 | 206 | 287 | 321 | 332 | 382 | 438 92 | 169 | 252 | 342 | 373 | 432
(320 | 196 | 193 | 190 | 177 | 175 | 170 | 163 [13.20] | 154 | 153 | 151 | 147 | 140 | 136
60 [893] |[1681]([2460]|[2761]([2903][[3265]([3752] 60 [761] |[1407]([2133]([3000]([3265]([3788]
Max 101 | 190 | 278 | 312 | 328 | 369 | 424 Max 86 | 159 1241 | 339 (ESCOIEEIS
con 1585 | 236 | 233 | 230 | 227 | 225 | 221 | 208 cont,|[1989]] | 185 {184 | 152 | 177 IR
70 [761] |[1557][[2318][[2637]| [2672] [3124][3681] 70 [681] |[1292]|[2079]|[2867]|[3026]|[3646]
86 | 176 | 262 | 298 | 302 | 353 | 416 Max 77 | 146 | 235 | 324 | 342 | 412 Max
[18.49] | 276 | 273 | 270 | 266 | 264 | 255 | 245 cont. [1849] | 217 | 216 | 213 | 208 | 201 | 200 cont.
75 | | [531] |[1442]|[2248]([2531)([2575]|[3053]|[3628] 75t | [ [=e4fii ieaiarolf2oad]iiasealjSab8]
Max 66 | 132 | 212 | 303 | 332 | 402 Max
Max 60 | 163 | 254 | 286 | 291 | 345 | 410 v Max L
int. [[19.81] 297 | 294 | 290 | 286 | 282 | 277 | 266 int. int. [19.81] 232 | 231 | 228 | 222 | 216 | 214 int.




PATRICIT

HYDRAULILS

= PERFORMANCE DATA

PHDR 400(401.9cc) Max Max
[435] | [580] | [870] |[1015]|[1160]|[1305]| [PSI]
30 40 60 70 80 90 | BAR

ePM | 5 [1345]

152
L/min [[1.32] 12
10 [1363]|[1814]|[2726]|[3088] TORQUE [LB-IN]
154 | 205 | 308 | 349 TORQUE NeM
[2.64] 24 | 21 18 | 17 SPEED RPM

20 | ([1327]|[1779]|[2672]|[3009]|[3469]|[3903]
150 | 201 | 302 | 340 | 392 | 441
[5.28] 49 | 48 | 47 | 46 | 44 | M

30 | [12921|11752]|12619]|[2929][[3425]|[3876]
146 | 198 | 296 | 331 | 387 | 438
7ozl | 73 | 74 | 73 | 72 | 70 | 67

40 | [[1239]|[1690]|[2566]|[2841]([3372]|[3726]
140 | 191 | 290 | 321 | 381 | 421
[105] | 98 | 97 | 96 | 95 | 94 | 92

50 [1168]|[1610]|[2487]|[27871(13327]|[3558]
132 | 182 | 281| 315 | 376 | 402
[13.2]] [122 | 121 | 118 115 | 112 [110

60 | |[1132]|[1557]|12407]|[2761][[3203]|[3442]
Max 128 | 176 | 272 | 312 | 362 | 389
[158]| | 146 | 145 | 143 | 140 | 138 | 132

Flow

cont.
70 [973] [[1513]|[2292]([2664]|[3018]|[3354]
110 | 171 | 259 | 301 | 341 | 379 Max
[18.4] 170 | 168 | 166 | 162 | 160 | 154 cont.
75 [867] |[1433]([2053]|[2584]|[2832]|[3150]
Max 98 162 | 232 | 292 | 320 | 356 I\_/Iax
it |[19:8] 182 | 180 | 178 | 176 | 174 | 170 int.

CROSS SECTION

:9{*_1311\'___(;_\ PIN CHECK VALVE GEAR SET
" 5 oo SN
THRUST WASHER /
M, \ END COVER
, N N A Sy
FRONT COVER N \m v gg %,
~_ B - PR 7 g SEAL
KEY e || //
) CASE DRAIN PLUG
2 / [ “0"” RING
OUTPUT SHAFT / 5N —
DUSTSEAL_ -~ .
suarrseaL”  / /
/ \ \ \
BOLT / - \*O” RING | _ \ _ \ THRUST ! [EEDLE BEARING (2)

LOCK WASHER HOUSING DRIVE SHAFT




PATRICT

DIMENSION AND MOUNTING DATA

A2 : 2-hole oval flange

Mounting surface

©82.5 [3.2513%

17 167]

P(A,B)

6[.24]

8 [.31]

\B

20 |[.79]
|

38 [1.49][36 [1.42]

2 - 013.5[53]
4-C
Loy / / 1
~
o
+l
_ g| 2|
%= 2 8 o
J/ iy =, 3| <
© 8 5 8
>y o
B | 55 [2.16]
107.5 [4.23]
L

A4 : 4-hole oval flange

P(A,B)
16 [.63] ic
6 [.24] 201.79 7 } 19
81.31] j\
5 Gar P - g
] \J < = =
ol =4t = - 2
:‘\I? @D f\ Zany ?2 9
8 JA\J > =%
N Q
| 20 |1.79] B 55 [2.16]
38 [1.49] | 36 [1.42] 108 [4.25]
Mounting surface L
Note: C, C1 Mounting are assembling to PHDRS shaft.
C1 Square Flange
P(AB) 4-C T O3IBA6UNG (T
[ or)4-3/8-
1oL — $82.5[3.25]+0.1 28 [216] /
2 VAR i
7 T g 5
= tC — =
2 @ 0
3 (h TN A h _é_f S
3 NESTZ &
2.5[.09] — | "E}
I
4411731 | 36[142] B 82x82 [3.23x3.23]
Mounting surface u 96 [3.78]

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.



o~

PATRICT

HYDORAULILS

= DIMENSION AND MOUNTING DATA

A1: Square Flange A

P(AB)
16 [.63] T 4-®11[43]
6[.24] | |— / 55 [2.16]
8.31]
< B < ]
| 5 A\ 2 &
G| T N T —oH-
Al 5 € =Y it
o = [ VAR )
@l 5 U b |
8o A 5
r—~y— | —_—
== 70x70[2.75x2.75]
B 90x90[3.54x3.54]
38[1.49] | 36 [1.42]
_— | 107.5 [4.23]
Mounting surface L
A3 : Square Flange
P(A,B) T 4-D13[51]
8 S
g8 N e
5 U =
* c— <
3 \J 5
© T
; d
6124] 16.63]
38 [149]_| 36142 2 90x90 [3.54x3.54]
Mounting surface L 120x120[4.72x4.72]

PHDR-50 | PHDR-80 PHDR-100 | PHDR-125 | PHDR-160 | PHDR-200 | PHDR-250 | PHDR-315 | PHDR-400

143[5.63] 148[5.83] 151.5[5.96] 156[6.14] 162[6.38] 169[6.65] 178[7.01] 190([7.48] 204 [8.03]
L1 151[5.94] 156[6.14] 159.5[6.28] 164 [6.46] 170[6.69] 177[6.97] 186[7.32] 198([7.79] 212[8.35]

B 91[.35] 14 [55] 17.5 [.69] 22[.87]  28[1.10] 35[1.38] 44[1.73] 56([2.20] 70 [2.75]

- PHDRY-50 | PHDRY-80 | PHDRY-100 | PHDRY-125| PHDRY-160|PHDRY-200  PHDRY-250 | PHDRY-315|PHDRY-400

150[5.90] 155[6.10] 158.5[6.24] 163 [6.42] 169 [6.65] 176[6.93] 185[7.28] 197 [7.75] 211[8.31]

L1 158 [6.22] 163[6.42] 166.5[6.55] 171[6.73] 177[6.97] 184[7.24] 193[7.59] 205[8.07] 219[8.62]
B 9.35] 14 [.55] 17.5 [.69] 22.87] 28[1.10] 35[1.38] 44[1.73] 56[2.20] 70[2.75]
Measurements in brackets [ | are in inches, while measurements

without brackets are in millimeters. Unless specified otherwise.



PORT CODES

- -
*

PATRICT

HYORAULICS

Ports (A,B) Mounting Thread (C) Drain Connection (T)

Y1

Y2

Y4

Y5

Y7

Y8

Y9

Y10

Y15

G1/2 (15)
M18x 1.5 (15)
M22 x 1.5 (15)

2G3/8 (15)

7/8-14UNF (15)
ZG1/2 (15)
NPT1/2 (15)

NPTF1/2 (15)
G1/2 (15)

7/8-14UNF (15)

M8 (13)

M8 (13)

M8 (13)

M8 (13)

M8 (13)

M8 (13)
5/16-18UNC (13)

M8 (13)

5/16-18UNC (13)

DIMENSIONS AND MOUNTING DATA

M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
7/16-20UNF (12)
G1/4 (12)

7/16-20UNF (12)

P(A,B)--Ports , C--Mounting Thread ( ---Indicates no thread ) , T--Drain Connection

P1 : ®[.98] Cylindrical shaft, parallel key [.31] x [.27] x [1.26]
® 25 Cylindrical shaft,

0
0.2
N

43[1.69]
5[.20] 32 [1.26]
I1A 3
i /
32 | g
g =f[TT— =
& =H1] s
© |
|
20[.79] ‘
TA
54 [2.12]
|

P3 : ®[1] Cylindrical shaft, parallel key [.25] x [.25] x [1.26]
parallel key6.35 x 6.35 x 32

® 25.4 Cylindrical shaft,

0
0.2
N

43 [1.69]
5[.20] 32 [1.26]
1A g
|
7’
ss ;oo
= 2 =
HEl . 3
|
g L%
|
|

20 [.79]
TA

54 [2.12]

28.2[1.11].2.

parallel key8 x 7 x 32

A-A
8 [31%0s

28[1.10].o.

A-A

6.35[0.25] 0 036

P2 : ®[1.18] Cylindrical shaft, parallel key [.31] x [.27] x [1.26]

® 30 Cylindrical shaft, parallel key8 x 7 x 32

8[31).9036

43 [1.69]
A-A
5[.20] 32[1.26)
|A 3
. / 4
o8 - °g s
— @ )
e gf [T ] L= N
= 2 Tl o
8 8 8
© |
|
20 [.79] ‘
TA
54 [2.12]
|

P4 : ®[1] Cylindrical shaft, Woodruff key ®[1] x [.25]

® 25.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35

6.35[.25] 0.036

49[1.93]

40[1.57] A-A
185173 | *
‘—’l » -
[=] 1
T
= A
8| T & @
RS N X
3
16 .63
o3 | 1, q

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.




e~

PATRICIT

DIMENSIONS AND MOUNTING DATA

P5 : ®[1.26] Cylindrical shaft, parallel key [.39] x [.31] x [1.77]

®32 Cylindrical shaft, parallel key10 x 8 x 45

56 [2.20]
5[.20] 451.771
|A )
z /
=% g
S| < ] )
=| =11 ]
& I &
e |
|
20[.79] ‘
A
65 [2.56]
|

P6 : ®[1.25] Cylindrical shaft, parallel key [.31] x [.31] x [1.26] H1:

A-A
10139150

35[1.3815,

@ 31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32

50 [1.97]
8.5[.33] 32[1.26]
1A 3
A
=| 2 P&
S 2 HT =
=| © — t
STl g
S|l ® e
[se] [s2) ]
i |
20 [.79] ,
Ta
60.5 [2.38]
|

H2 :

A-A
7.96 [.31]. 0%

0
-0.2

35.3[1.39]

@25 Splined shaft, 6-25x21x5

43[1.69]
28[1.10]
™ W
A jcé
88 )
2| o I =
2 2‘ | Y 5
0 ©
§ = §
20 [.79]
1A ‘
54[2.12]

-0.07
-0.118

6-5[.23 - .19]

®[.98] Splined shaft, 6 — [.98] x [.83] x [.19]

A-A
2183545,

P52 : ®©[1.26] Cylindrical shaft, parallel key [.39] x [.31] x [1.77]
®32 Cylindrical shaft, parallel key10 x 8 x 45

A-A
10 [39].003

35[1.381.0,

56 [2.20]
5[.20] 45[1.77]
IA ]
3 /
2 3
8| = I— 7 =
= =11 2
8 | ®
o |
|
20[.79] ‘
TA
68 [2.68]
|

@30 Splined shaft, 6-30x 25 x 6

o

43[1.69]
32[1.26] ¢

| A
g
S T
o
o
=S

20[.79]
l'a
54 [2.12]

1
co35|[1 38]

62418478

®[1.18] Splined shaft, 6 —[1.18] x [.98] x [.24]

A-A
©25 [98]3%¢

H3 : ®[.99] Splined shaft, 6 —[.99] x [.84] x [.24]
®25.3 Splined shaft, 6-25.3x21.4x6.2
43 [1.69]
28[1.10] AA -0.160
A © ©21.4 [.84] 5370
| 3
sg F / g
STt
=]y
20 [.79] <] AN A
| 6x60°
A 54 [2.12]

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.



N

PATRICIT

DIMENSIONS AND MOUNTING DATA

K4 : @[.96] Involute splined shaft B25 x 22 DIN 5482 m: 1.6 Z:14 K10 : ®[1.25] Involute splined shaft 14-DP12/24 a=30°

®24.5 involute splined shaft B25 x 22 DIN5482 m: 1.6 Z:14 ®31.75 involve splined shaft 14-DP12/24 a=30°
43[1.69] 47 [1.85]
30[1.18] 30[1.18]

A X% AA A \(g A-A

- / - s .

c.g 003-‘277773) ? oz g E)
20 [.79] |
R d A K
54[2.12] 54[2.12]

K13 : ®[1.25] Involute splined shaft 14-DP12/24 a=30° K14 : ®[1.25] Involute splined shaft 14—-DP12/24 a=30°
®31.75 involute splined shaft 14-DP12/24 a=30° ®31.75 involute splined shaft 14-DP12/24 a=30°

47 [1.85]
56 [2.20] 30 A-A
36 [1.42] A-A [1.18]
A \(g (A \(3
1= 1 7 = %
= 2HT] e %é‘m—i— = %ﬁ
= =3 g e ©
8 _ g .
20(.79] - 20[.79] L '
| Ia
67 [2.64] 54 [2.12]
Note: PHDRY series motors don't include
the following output shafts : P2, P5, P52,
P6, H1, K4, K10, K13, K14
m Measurements in brackets [ ] are in inches, while measurements

without brackets are in millimeters. Unless specified otherwise.



o~

PATRICYT

HYORAULILS

<= DIMENSIONS AND MOUNTING DATA

A2 : 2-hole oval flange

P(A.B) 4-C 2-13.5[.53]
T
(284[1.12] |
2.1.08]*81 — 14.256] /
_ _{g
*é (J @
S os3 G} - ~ v N
=3 2% o = T = % , 3
g kS y [y = 2 =) /%j =
= o 0 2 _ I I | hl < . . 1 L2,
2 o — = ) 3 g < ‘ 8
7 8 3 ¢ 5 5 8 ‘ @ e
s o NN Ik 5 )
m -
e #@» A
17 B
2811 || 17)67) ©88.5 [3.48]:0.1
\ 54 2.12]
42.7 [1.68]
Mounting surface L
C, C1 Square Flange, Pilot Flange 44.45X2.5
4-C
_P(AB) T 4010 (C)
284[1.12] | ®82.5 [3.25]:0.1 / (0r)4-3/8-16UNC (C1)
15[.59] 14.2 [.56]_—
Lf\ |
] A n
2N )
o5 % . — _ I
& 3 oY @ S R
= = o = hoo Q
S| e = e - § o
3 = g 5 5 g
s SANEZEN ° - §
$&#m
v _E_ R
2.5[.09]
o 44.7[1.76]
42.7[1.68] B
Mounting surface L

- PHDRS-50 | PHDRS-80 | PHDRS-100| PHDRS-125 |PHDRS-160 | PHDRS-200 |PHDRS-250 |PHDRS-315 |PHDRS-400
L

151[5.94] 156 [6.14] 159.5[6.28] 164 [6.46] 170[6.69] 177[6.97] 186[7.32] 198[7.79] 212[8.35]

B 9[.35] 14[.55] 17.5[69]  22[87] 28[1.10] 35[1.38] 44[1.73] 56[2.20] 70 [2.75]

Measurements in brackets [ ] are in inches, while measurements m
without brackets are in millimeters. Unless specified otherwise.



PATRICYT

HYORAULILS

- -
*

PORT CODES
G1/2 (15) Mi14 x 1.5(12)
Y5 7/8-14UNF(15) — 7/16-20UNF(12)
Y7 ZG1/2(15) — G1/4(12)
Y9 NPTF1/2(15) — 7/16-20UNF(12)
Y10 G1/2(15) — G1/4(12)
Y17 3/4-16UNF(15) — 7/16-20UNF(12)
Y19 ®11(15) 5/16-18UNC(13) 7/16-20UNF(12)
Y20 M18 x 1.5(15) M8 (13) G1/4(12)

P(A,B)--Ports , C--Mounting Thread ( ---Indicates no thread ) , T--Drain Connection

DIMENSIONS AND MOUNTING DATA

P1 : ®[.98] Cylindrical shaft, parallel key [.31] x [.27] x [1.26] P3 : ®[1] Cylindrical shaft, parallel key [.25] x [.25] x [1.26]

@25 Cylindrical shaft, parallel key8 x 7 x 32 ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
43[1.69] 40 [1.57]
A-A A-A
5[.20] 32[1.26] 81.31]3 056 5[.20] 32[1.26] - 6.35 [.25] L os
1A e 1A k!
- . - . / -
8 5 % 8 = %
e == H = S == ? =
20 [.79] 20 [.79]
A d TA d
48 [1.89] 45[1.77)
P4 : ®[1] Cylindrical shaft, Woodruff key ®[1] x [.25] P33 : ®[1] Cylindrical shaft, parallel key [.25] x [.25] x [1.26]
®25.4 Cylindrical shaft, Woodruff key®25.4 x 6.35 ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
40 [1.57]
40 [1.57] A-A AA
1570 | 6.35 [.25] 5 0s6 st 32[1.26] - 6.35 [.25) S0
| ; A D8
N — Og . / o
g 3 [ SF 5 % %
5 & IEE =H = 5=
gl 2 § 8 NE 8 =
14.5[57] | 20 [.79]
45A1 77 q IA 4
[1.77] 45[1.77]
IE Measurements in brackets [ ] are in inches, while measurements

without brackets are in millimeters. Unless specified otherwise.



i~

PATRICT

DIMENSIONS AND MOUNTING DATA

P89 : ®[1] Cylindrical shaft pin hole ®[.37] P93 : ®[1] Cylindrical shaft pin hole ®[.37]
® 25.4Cylindrical shaft pin hole ®9.53 @ 25.4Cylindrical shaft pin hole ®9.5
15.47 [.61] AA oo 18 [.71] A-A
A ©9.53[.37]% A . $9.5[.37]+0.1
e - | = : &
ST el YT i ) e _4/
a = & 8~ e
40 [1.57] <] 40 [1.57] '
A A
45[1.77] | 45[1.77]

P95 : ®[1] Cylindrical shaft pin hole ®[.25], Woodruff key ®[1] x [.25] P96 : ®[1] Cylindrical shaft pin hole ®[.31]

®25.4Cylindrical shaft pin hole 6.4, Woodruff key ®25.4 x 6.35 ®25.4Cylindrical shaft pin hole ©8
40 11.57] A-A 11.7 [46]£0.1 A-A
185073] | | A _|6:35[25] o6 [A X% 8 [.31]:0.08
N ~ : ’ -
o o e — £
§ § = § § |
\®6.4 [.25]:0.1 40 [1.57] '
12.7 [.5]|:0.1
|A 14,
45[1.77] 45[1.77]
P97 : ®[1] Cylindrical shaft pin hole ®[.40] H4 : ®[.99] Splined shaft, 6—[.99] x [.84] x [.24]
®25.4Cylindrical shaft pin hole ® 10.3 ®25.3 Splined shaft, 6-25.3x21.4x6.2
40 [1.57]
5.47 [.61]£0. A-A A-A
A /I\ 103 [40]s0.1 2|6A[1‘°2] \,(% ®21.4 18413
8l o / — . 2%l /‘ ‘BE
g st | = & HE g 3
T DT
o | o g = M © g
40[1.57 ' 14.5[.57] ©
A ] N d
| 45[1.77] 45[1.77]
Measurements in brackets [ | are in inches, while measurements m

without brackets are in millimeters. Unless specified otherwise.



o~

PATRICT

HYORAULICS

- P
-

DIMENSIONS AND MOUNTING DATA

K8 : ©[.87] Involute splined shaft, 13-DP16/32
®22.1 involute splined shaft, 13-DP16/32

15.5 [.61]
A
14.55] s
'a 38.2[1.50] 35 (
43 [1.69]

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.




PATRICIT

HYDODRAULILS

< DIMENSIONS AND MOUNTING DATA

36 [1.42] | 10|[.39] 2-G1/2" 147.6 [5.81] 4-913.5[.53]

7 15 [.59] M14x 1.5
P — / ‘ 12 [.47]
Mounting surface

g ol 2 AR 8
| o~ & Heig 2
5 Tr—— M\ JH e
N2,
~ A _Q
9[.35]
47[1.85] L ) 132x132 [5.20x5.20]

- PHDRW-50 | PHDRW-80 [PHDRW-100|PHDRW-125 PHDRW-160PHDRW-200|PHDRW-250|PHDRW-315PHDRW-400

108 [4.25] 113[4.45] 117[4.61] 121[4.76] 127 [9] 134 [5.27] 143[5.63] 155[6.10] 169 [6.65]

B 91[.35] 14 .55] 175[.69] 22[.87]  28[1.10] 35[1.38] 44[1.73] 56[2.20] 70[2.75]
G1/2 (15) M14 x 1.5(12)

P(A,B)--Ports , C--Mounting Thread ( ---Indicates no thread ) , T--Drain Connection

Z : ©[1.38] Tapered shaft, taper 1:10, parallel key B6 x [.24] x [.79]
@35 Tapered shaft, taper1:10, parallel key B6 x 6 x 20

4.16] AA

13[.51]\1/ 20 [.79]
|A
— /
| /
<1':A10 <|

36 [1.42]

0
6124].0.039

Ul

19.1 17519

D4 [.16]
1
®35][1.38]

044 [1.73]
M20x1.5

U

58 [2.28] |
107 [4.21]

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.



PATRICYT

HYDORAULICS

- -

DIMENSIONS AND MOUNTING DATA '

P(A B) T 4-R15 4-013.5 53] ©147.6 [5.81]
21[.83]

Mounting surface

45°

©82.5 [3.25]-3-9%%

23 [90]_] 23 [00]

ARN/anY

NPAAYYAN

[y

91.35]

42[1.65] 42[1.65] B

132x132 [5.19x5.19]

- PHDRW1-50 | PHDRW1-80 [PHDRW1-100 |PHDRW1-125 |PHDRW1-160 |[PHDRW1-200 PHDRW1-250 |PHDRW1-315 | PHDRW1-400

125[4.92] 130[5.12] 134[5.27] 138 [5.43] 144[5.67] 151[6.94] 160[6.29] 172[6.77] 186 [7.32]

B 9[.35] 14 [.55] 17.5[.69] 22[.87] 28[1.10) 35[1.38]  44[1.73]  56[2.20]  70[2.75]
PORT CODES
Port Codes Ports (A,B) Mounting Thread (C)
G1/2 (15) M14 x 1.5(12)
Y5 7/8-14UNF(15) — M14 x 1.5(12)
Y10 G1/2 (15) — G1/4 (12)

P(A,B)--Ports , C--Mounting Thread ( ---Indicates no thread ) , T--Drain Connection

m Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.



PATRICIT

DIMENSIONS AND MOUNTING DATA

P1 : ®[.98] Cylindrical shaft, parallel key [.31] x [.27] x [1.77]
®25 Cylindrical shaft, Parallel key 8 x 7 x 45

52 [2.05] 56.5[2.22]
A-A
3[12] 45[1.77] 81310 %036 5[.19] 45[1.77]
|A Xg‘) |A X"c)c
g| <[ ] = = S ot =
2 = E) = = =1 5]
Q o Q N &
3 &
20 [.79] 20[.79]
A K TA <
97 [3.82] 107 [4.21]

P6 : ®©[1.26] Cylindrical shaft, cylindrical shaft pin hole ®[.32],

parallel key [.39] x [.31] x [1.77]
® 32 Cylindrical shaft, Cylindrical shaft pin hole ® 8.1,

parallel key 10 x 8 x 45

56.5 [2.22]

|A 0 22.87] | A36[1.42)
[195] | 45[1.77] | © | 10[39].0.036 o179 |
[

QoI Ty 1 4=l ] T = = =
&
R 2}

20 [79] I : ©4.5[.18] IA
so.18 | 1A 4 3 <1:10 /
107 .21 107 [4.21]

A-A

X
o€

[
40][1.57]
[

A

Z1 : ®[1.25] Tapered shaft, taper 1:8, parallel key [.31] x [.27] x [.98]
®31.75 Tapered shaft, taper1:8, parallel key 8 x 7 x 25

19 [.75]

1A 351.38]

25 f.gs]

A-A
813110036

i
LT TS—V1

[.19]5

1-14NUF
416
T

-}

©31.75|[1.25] |

$40[[1.57]
[

15/
<1:8

107 [4.21]

AN

P5 : ®[1.26] Cylindrical shaft, parallel key [.39] x [.31] x [1.77]
®32 Cylindrical shaft, parallel key 10 x 8 x 45

A-A
10 [:391.0 036

0
-0.2

35[1.38]

0
-0;2

[.75]

19.1

Z : ©[1.38] Tapered shaft, taper 1:10, parallel key B6 x [.24] x [.79]
@35 Tapered shaft, taper1:10, parallel key B6 x 6 x 20

A-A
6 [.24].0 o3

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.



PATRICYT

HYDORAULILS,

- -

PHDR SERIES MOTOR =

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

o mrllenen

Ing

PHDR, PHDRW PERMISSIBLE SHAFT LOADS

P (daN) Radial force

PHDR
P
700 *
500
\ 150 daN
G
300 P D
\\
I — - &
100 200 daN
Speed(r/min)
0 200 400 600 800 |
30[1.18]
P (daN) Radial force
PHDRW
P
1600
A
1200 B
A:n=50 r/min
¢ B:n=200 r/min
800 C:n=800 r/min
p—
400 L
0*
0 20 40 60 80 100 L(mm)




i~

PATRIEST
PHDR SERIES MOTOR
P-
PHDRY PERMISSIBLE SHAFT LOADS ‘
— PHDRY
-
Pr (daN) | i [
2000 4
1800 1 ||
1600 800rpm B
1400 oo \\ ] a iR
1200 MAX S0rpm _\\ \ A - >\ v
1000 = — e _
\ T <
800 = ] ]
=T N
600 — —— ]
400 ==F ——
200

80 70 60 50 30 20 40 10 0 -10 -20 -30 | (mm)

IN APPLICATIONS WITHOUT A DRAIN LINE, THE PRESSURE EXERTED ON THE SHAFT SEAL WILL EXCEED
THE PRESSURE IN THE RETURN LINE. IN APPLICATIONS USING A DRAIN LINE, THE PRESSURE
ON THE OUTPUT SHAFT SEAL CAN EQUAL THE PRESSURE IN DRAIN LINE.

Case Drain

In applications without a motor drain line, the pressure exerted on the shaft seal is marginally in excess of the return line
pressure. When the drain line is used, the pressure exerted on the shaft seal is equal to the return line pressure




i~

PATRICIT
ORDERING INFORMATION

1 2 3 4 5 6 7
PHDR/ | __ _ _
PHDRY
Pos.1 2 3 4 5 6 7
S o o Shaft Ports
eries | Disp utput Sha Flange Style . Rotation
P 9 Yy Port codes (A,B) | Drain Port (T) Special features direction
50 | P P[.98] Cylindrical shaft, parallel key [.31] x [.27] x [1.26]
® 25 Cylindrical shaft, parallel key8 x 7 x 32 Y G1/2(15) M14 x 1.5(12)
T 2 — ®[.53] Oval flange, pilot ®[3.25] x [.24]
po | ®[1.18] Cylindrical shaft, parallel key [.31] x [.27] x [1.26] A2 | 5_113.5 Oval flange, pilot®82.5 x 6
@30 Cylindrical shaft, parallel key8 x 7 x 32
80 | o, | O[1] Cylindrical shaft, parallel key [.25] x [.25] x [1.26] Y1 | M18x1.5(15) | M14x1.5(12)
®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
oy | ©L1] Cyiindrical shaft, woodruff key ®[1] x [25] A4 |4~ 053] g"a' flange, pilot ®[3.25] x [.24]
©25.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35 4-@13.5 Oval flange, pilot®82.5 x 6 v2 | M22x15(15) | M14x1.5(12)
100
P5 ®[1.26] Cylindrical shaft, parallel key [.39] x [.31] x [1.77]
@32 Cylindrical shaft, parallel key10 x 8 x 45
- 4 —M10 Square flange, pilot ®[1.75] x [.09] Omit| Standard |Omit/Standard
psp | ©[1:26] Cylindrical shaft, paralel key [.39] x [.31] x [1.77] c P Y4 2G3/8(15) M14x1.5(12)
125 ® 32 Cylindrical shaft, parallel key10 x 8 x 45 4-M10 Square flange, pilot®44.45 x 2.5
PHDR/ PG P[1.25] Cyli_ndrical shaft, parallel key [.31] x [.31] x [1.26] T7 L
PHDRY ®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32 Y5 | 7/8-14UNF(15) M14 x 1.5(12) With dustproof ring Opposite]
®[1.18] Solined shaft. 6 [1.18 98 24 1 4-3/8-16UNC Square flange, pilot ®[1.75] x [.09]
160 | H1 <D[36 Sg,"n%g 2hasft,a é_sq)[x 25 ]XXGL 1x1.24] 4-3/8-16UNC Square flange, pilot®44.45 x 2.
T10
po | ©L.98] Splined shaft, 6 —[.98] x [.83] x [.19] Y7 ZG1/2(15) M14 x1.5(12) With high pressure
@25 Splined shaft, 6-25x21x5 seals
200 Hs ®[.99] Splined shaft, 6 — [.99] x [.84] x [.24] A 4 -®[.43] Square flange, p.i|0t D[3.25] x [.24]
©25.3 Splined shaft, 6-25.3x21.4x6.2 4-®11Square flange, pilot ©82.5x 6 Y8 | 1/2NPT(15) M14x1.5(12)
K ®[.96] Involute splined shaft, B25x22 DIN5482
4 ®24.5 involute splined shaft, B25 x 22 DIN5482
250 k1o | ©I1.25] Involute splined shaft, 14-DP12/24 a=30° pq | 47 @L:A3] Square flange, pilot ®[3.15]x [24] | yg | 1/2NPTF(15) | 7/16-20UNF(12)
©31.75 involute splined shaft, 14-DP12/24 a=30° 4-®11 Square flange, pilot ®80x 6
K13 ®[1.25] Involute splined shaft, 14-DP12/24 a=30°
315 ®31.75 involute splined shaft, 14-DP12/24 a=30° Y10 G1/2(15) G1/4(12)
) _ano 4-®[.51] Square flange, pilot ®[3.94] x [.24]
®[1.25] Involute splined shaft, 14-DP12/24 a=30 A3 )
Ki4 | 93175 involute splined shaft, 14-DP12/24 a=30° 4-®13 Square flange, pilot® 100 x 6
71 | ®[1.12] Tapered shaft, taper 1:10, parallel key [.19] x [.19] x [.55] Y15/| 7/8-14UNF(15) | 7/16-20UNF(12)
400 ®28.56 Tapered shaft, taper1:10, parallel key 5x5x 14
Note: PHDRY motors don't include the following output
shafts: P2, P5, P52, P66, H1, K4, K10, K13, K14
m Measurements in brackets [ ] are in inches, while measurements

without brackets are in millimeters. Unless specified otherwise.



i~

PATRICIT

HYDORAULILS

‘L ORDERING INFORMATION

1 2 3 4 5 6 7
L] e I I O T I
Posi | 2 3 4 5 6 7
Series | Disp Output Shaft Flange Style Ports Special features gﬁgt{%?]
Port Codes (A,B)| Drain Port (T)
@[.98] Cylindrical shaft, parallel key [.31] x [.27] x [1.26]
50 | P1'| 025 Cylindrical shat, parallel key8 x 7 x 32 Y| G218 | M14x15(12)

P3 ®[1] Cylindrical shaft, parallel key [.25] x [.25] x [1.26]
©25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32 A2 | 2-®L53] Oval flange, pilot ®[3.25] x [.11]
80 2-013,5 Oval flange, pilot®82.5x28 | Y
P4 P[1] Cylind.rica.l shaft, Woodruff key ®[1] x [.25]

025.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35

o

7/8-14UNF(15) | 7/16-20UNF(12)

100 Omit|  Standard  |Omit|Standard
P33 ®[1] Cylindrical shaft, parallel key [.25] x [.25] x [1.26] Y7 ZG1/2(15) G1/4(12)

025.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

125 | pgg | @I1] Cylindrical shaft pin hole ®[.37] T21 . L '
025.4 Cylindrical shaft pin hole® 9.53 Ya| 1/2NPTF(15) | 7/16-20UNF(12) No case drain Opposite
c 4-M10 Square flange, pilot ®[1.75] x [.11]

®[1] Cylindrical shaft pin hole ®[.37] 4-M10 Square flange, pilot®44.45x 2.8
PHORS | 160 1”93 | 025.4 Cylinrical shatt pin hole® 9.5 : wr

©

P95 ®[1] Cylindrical shaft pin hole ®[.25] , Woodruff key ®[1] x [.25] Y10 G1/2(15> G1/4(12)

0254 Cylindrical shaft pin hole ®6.4, Woodruff key ©25.4 x 6.35

200

®[1] Cylindrical shaft pin hole ®[.31]
P96 o254 Cylindrical shaft pin hole©8 Y17) 3/4-16UNF(15) | 7/16-20UNF(12)

250

P97 @[1] Cylindrical shaft pin hole ®[.40]

o . 4-3/8-16UNC Square flange, pilot [1.75] x [.11]
025.4 Cylindrical shaft pin hole ®10.3 C1

4-3/8-16UNC Square flange, pilot®44.45x 2.8 y19 011(15) 7/16-20UNF(12)

315 | Ha | PLOOISplined shaft, 6~ [.99] x [.84] x [.24]
025.3 Splined shaft, 6-25.3x21.4x6.2

kg | ®L871Involute splined shaft, 13-DP16/32 Y20 M18x1.5(15) G1/4(12)
400 22,1 involute splined shaft, 13-DP16/32

Measurements in brackets [ ] are in inches, while measurements m
without brackets are in millimeters. Unless specified otherwise.



ORDERING INFORMATION

PATRICT

1 2 3 4 5 6
PHDRW | — — -
Pos.1 2 3 4 5 6 7
Seri - Ports
eries 1S .
P Output Shaft Flange Style Code|Port Codes (A,B)| Drain Port (T) | Special features ;?;izg:
50 80 100 ' Standard
®[1.38] Tapered shaft, taper 1:10, parallel key B6 x [.24] x [.79] 4 - [.53] Square flange, pilot ®[3.25] x [.35] Omit| Standard  |Omit
PHDRW| 125160200 | Z | 4,55 Tapered shaft, taper1:10, parallel key B6 x 6 x 20 A" |4-0135 Square flange, pilot@825x9 | Y G1/2(15) M14x1.5(12) | Om! andar m
250 315 400 L
Opposite
1 2 3 4 5 6
PHDRW1 | — — —
Pos.1 2 3 4 5 6 7
Ports
Series | Disp Output Shatft Flange Style Code| Port Codes (A,B)| Drain Port (T) | Special features 3?;2::22
50 | P1 P[.98] Cylindrical shaft, parallel key [.31] x [.27] x [1.77]
®25 Cylindrical shaft, parallel key 8 x 7 x 45
% Y G1/2(15) M14x1.5(12)
P5 ®[1.26] Cylindrical shaft, parallel key [.39] x [.31] x [1.77]
100 ®32 Cylindrical shaft, parallel key 10 x 8 x 45
125 ®[1.26] Cylindrical shaft, Cylindrical shaft pin hole ®[.32] , ; ;
PHDRW1 parallel key [.39] x [.31] x [1.77] 4-0153] Square flange, pit OB251X[35] | v5 | 7 14UNF(15) | M14x15(12) Omit|  Standard |OmitiStandard
160 | P6 | 032 Gylindrical shaft, Cylindrical shaft pin hole ®8.1, 4-013.5 Square flange, pilot®82.5x 9 ‘
2 parallel key 10 x 8 x 45
00 7 L
250 ;| ©11.38] Tapered shaft, taper 1:10, parallel key B6x [.24] x [79] With dustproof ring Opposite
315 ®35Tapered shaft, taper1:10, parallel key B6 x 6 x 20
400 | 71 | ©11:25] Tapered shaft,taper 1:8, parallel key [31] x [27] x [98] Y10|  G1/2(15) G1/4(12)
®31.75Tapered shaft, taper1:8, parallel key 8 x 7 x 25

Measurements in brackets [ ] are in inches, while measurements
without brackets are in millimeters. Unless specified otherwise.




